Net-Access Front to Back Cable Manager
“ I T Part Number : SN8FBB

© Panduit Corp. 2017 INSTALLATION INSTRUCTIONS V00029MO

JTool List:
e 8mm Hex Driver

INNER AND OUTER
CHANNEL

M5x0.8 x 10mm
Hex Head Screw

Qty: 4
OUTER
CHANNEL
/
Yl
& <
#10-32
0 Wing Flange Nut
INNER Qty: 1
do CHANNEL
Front to Back Front to Back
Cable Manager Cable Manager

Installed on an |
800mm wide S-Type !
Universal Cabinet |

Installed on an
N-Type Cabinet

FEEFEEE P FE P FF PR F F F P EF P FE F P F R E E EEE R E L E

-NOTE- The Front to Back Cable Manager
can be installed on either the left or right
side and at various locations along the
vertical height of the cabinet.

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 1 of 4



© Panduit Corp. 2017 INSTALLATION INSTRUCTIONS

V00029MO

Install Front to Back Cable Manager on N-Type Cabine

t

@  Fasten Outer Channel to the rear post using (2) M5x0.8 x 10mm hex head screw to the bracket upper and lower mounting holes
@  Fasten Inner Channel to the front post (2) M5x0.8 x 10mm hex head screw to the bracket upper and lower mounting holes

®  Secure the Inner and Outer Channel with (1) 10-32 Wing Flange Nut

Note: above instructions are for mounting Front to Back Cable Manager on the right hand side of the cabinet. For left hand side mounting,
the Outer Channel mounts to the front post and Inner Channel mounts to the rear post.

f ==

ii:}%{'/

Front
of Cabinet Frame

PR A i 0 = = A A A =~ A A A = = = = A A AR = = i i A A =i = I = A R R R = R R ALY

R R A s R s s s s s R s R S A A S R A S s R s A s R s s s s Y\

Optional Installation
(Inner Channel Fastened to Adjustable Threaded E-Rail)

0 e

@
/;@
(S}

<@
/fjg
S

=]
/;@
(S}

<@
/fjg
(S

M5x0.8 x 10mm

e
\
|

of |

o
|
1
o |
o
|
1
ol |
Lo}

\

M5x0.8 x 10mm
Hex Head Screw

Optional Installation

(Inner Channel Fastened to Rear Post)

ﬁ@@
0

N

[7° [7°

[7°

o

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 2 of 4



© Panduit Corp. 2017

INSTALLATION INSTRUCTIONS

V00029MO

nstall Front to Back Cable Manager on N-Type Cabinet

B EEGEEGEEGREEGREEGREREGREGREGEREEREERESEESEEDE y

Front

= =i =4

GREREGLREEGRELEREEGEE G EE G &

&2 B E

PN
®

of Cabinet Frame

< .
BT 0 O 000800850080 50560508500805005008008080808785

\

\

\ Front

of Cabinet Frame

| —M5x0.8 x 10mm
Hex Head Screw

9999\@@@@@@99999@@

= <

Yl

[7°

[7°

M5x0.8 x 10mm
Hex Head Screw

#10-32
Wing Flange Nut

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 3 of 4



© Panduit Corp. 2017

INSTALLATION INSTRUCTIONS

V00029MO

Install Front to Back Cable Manager on S-Type Universal Cabinet

® Fasten Outer Channel to the rear E-rail using (2) M5x0.8 x 10mm hex head screw to the bracket upper and lower mounting holes
® Fasten Inner Channel to the front E-rail using (2) M5x0.8 x 10mm hex head screw to the bracket upper and lower mounting holes
® Secure the Inner and Outer Channel with (1) 10-32 Wing Flange Nut

Note: above instructions are for mounting Front to Back Cable Manager on the right hand side of the cabinet. For left hand side mounting,
the Outer Channel mounts to the front E-rail and Inner Channel mounts to the rear E-rail.

------

Front
of Cabinet Frame

FF F P P P F P O P E P F P P P P P P E P P D P G P P P P F P P&

Front
of Cabinet Frame/

@ M5x0.8 x 10mm
= W

M5x0.8 x 10mm
Hex Head Screw

®

)W W W W G W O W O O O W W

p.4

#10-32
Wing Flange Nut

M5x0.8 x 10mm

Hex Head Screw

VU T O W | O W R R O R W R W W R W @

M5x0.8<10mm
Hex Head Screw

For Instructions in Local Languages
and Technical Support:

www.panduit.com/resources/install_maintain.asp

PaNDUIT

www.panduit.com

E-mail:
techsupport@panduit.com

Phone:
866-405-6654

Page 4 of 4



